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Ouestion One (Compalsory)



Question One (Compulsory)

a) Econometrics is the life of an economist, discuss the goals of econometrics
(6 marks)

b) From EVIEWS, the multiple regression result is presented as follow:

1

i Dependant Yarisble: 8

i WMethod: Least Sguares

| Date: 02/28/02 Time: 10:04
| Sample; 138

! Included observations: 38

i

. WVariable Coeflicient  Std. Error t-Statistic Frob.

i c 9223923 1.5935467 4765736 0.0000D
| T 0786568 0590256 -1.332588 0.1916
: E 7908074 3660743 2160045 0.0381
: L] 0.000408 0000498 0823516 D411
i H -0.018971 0.002674 -7.084425 00000
,F R-squarsd 0.709460 Msan dependent var B.438421
| Adjusted R-squarad 0674243 S.D. dependant var 2B2777
: B.E. of regressien 1.496382 Akaike info criterian 3.766057
i Bum squared rasid 73.89229 Schwarz critsrien 3881525
£ Log likelihood 6555509  F-siatistic 20.14541

¢ Durbin-Watson stat 214691 Prob(F-statistic)

0.000000
| L. . I _

1} Your friend expects the coefficient of P to be positive. Carry out the formal
hypothesis statement, test the hypothesis by using the 5% flevel of
significance, and make your conclusion, {4 marks)

ii) Your friend also argues that every car at least should have 8.5 units of drag
for safety in the road. Construct the confidence interval for the coefficient of
E, carry out the hypothesis statement and test by using the 1% level of
gignificance and make your conclusion. (4 marks)

iii) Explain why you need fo use the F test. What is your conclusion from the F
hypothesis test? (5 marks)

iv) How would the estimated results have differed in the coefficients, R? and
t-statistics if you divided the variable P by 100? (5 marks)

ion Two



Question Twe

(a) State the assumptions essential for the ordinary least square estimators to be
BLUE. (N/B: Be sure to explain where your assumptions are used in "BLUE").
(5 marks)
(b}In the regression Y; = By+ [2X; + u;, suppose you multiple each X; value by a
constant, say 5. Will it change the residuals and fitted values of Y7 Briefly

explain. (7 marks)
fQuestion Three
2
a) Provethat; rl =5} z—; (4 marks)

b) What are the major differences of the properties between the normal regression
model with constant term and the non-intercept regression model? (8 marks)

Question Four

a) What is heteroscedasticity in economeirics estimation? Discuss the problem that
the presence of heteroscedasticity causes for OLS estimator? {4 marks)

b} What problem does the presence multicollinearity cause for the OLS estimator?
Explain the likely indicators of multicoilinearity in OLS estimation (8 marks)

Question Five

4) Explain what is meant by a distributed lag model. Write the equation for a
general distributed lag model with an infinite number of lags and for one
with k lags. (6 marks)

b) Assume a two variable model of the form ¥, =b, + 5, X, +», and that the error
term follows the AR(1) scheme that isw, =pu,_ +v, —1<p<1 where v,
safisfies the usual OLS assumption and g is known. Transform the mode! so
that the error term is serially independent. {6 marks)

Question Six



Question Six
The following two equations represent a simple macreeconomic model.

M,=a,+af +u,
¥y=by + 5 M, +b,1, +u,,
Where M, is money supply is in time period t, ¥, is income and is [, is investment.
Required:
a) Why is this a stimultancous equations model? Expiain.
b) Find the reduced-form equation corresponding to the structural equations
¢) Why these are reduced form equations important and what do the reduced
form coefficients measure in this market model. (12 marks)

STATISTICAL TABLES



STATISTICAL TABLES

Taste A

Cumulative Standardized Normal Distribution

A{z) is the integral of the standardized nommal
distribution from —o e z {in other words, the
area under the curve to the left of z). It gives the
probability of a normal randem varjable not
being more than z standard deviations above its

Alzy
mean. Yalues of z of particular impodanee:
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